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High School for Public Service

Ms.  Reid’s Weekly Living Environment Homework Packet

Due before class starts on Wednesday, March 14th, 2017. 
Name: _____________________________________________________

Period: ________


Bodies Museum Field Trip
Name ________________________________                                                                 Date______________




Charles Darwin and Evolution

In 1831 a man by the name of Charles Darwin set sail of the HMS Beagle on a 5 year voyage to make _______________about of nature in South America. When he got to the _____________Islands, he noticed that each island had their own type of __________living on them. He also speculated that these animals had come from a common __________even though the animals looked and acted different from each other. 
Darwin made 5 major observations. The first thing he noticed was that there was a lot of ____________ within a population of species. This means that there were slight _____________ within groups. He also noticed that organisms produced more offspring than actually live to ____________ age. 

Darwin watched as organisms _____________ for resources like food, water, __________, and mates.  Those organisms that were not ___________ in getting these resources would eventually die leaving the fittest to live and reproduce. By____________, the fittest will pass on the genes to their _____________ while those who could not adapt would die before reproducing therefore not passing on their genes. This process of the best adapted organism living and the least adaptive dying is known as ________________; this is because nature selects who will live or _______. 

Darwin also figured out that ___________ in organism can be ____________to an organism if it helps it obtain resources better that another organism. If the mutation helps the organism's chances of____________, than that mutation can be past to the organisms offspring. And if enough time passes, a new __________ may develop.  This new species may look and act differently than its ancestor.  By being slightly different, the new species will occupy an specific ___________ or job in it surrounding.
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[image: image1.png]The diagram below shows a comparison of nitrogen base sequences in the DNA of some organisms to those of a human.
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According to this diagram, humans may be most closely related to the

(A) ancestral primate (B) chimpanzee (C) gorilla

(D) orangutan
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[image: image2.png]A classification system is shown in the table below.

Classification Examples

Kingdom — animal A, O 0O, 7'\*7,
v

Phylum — chordata AL, gﬁﬁz
Genus — Felis , g

Species — domestica

This classification scheme indicates that 1 is
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[image: image3.png]‘Which statement is most closely related to the modern

theory of evolution?

(A) Characteristics that are acquired during life are passed
to offspring by sexual reproduction.

(B) Evolution is the result of mutations and recombination,
only.

(C) Organisms best adapted to a changed environment are
more likely to reproduce and pass their genes to
offspring.

(D) Asexual reproduction increases the survival of species.
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[image: image4.png]‘Which statement represents the major concept of the
biological theory of evolution?

(A) A new species moves into a habitat when another
species becomes extinct.

(B) Every period of time in Earth’s history has its own
group of organisms.

(C) Present-day organisms on Earth developed from
earlier, distinctly different organisms.

(D) Every location on Earth’s surface has its own unique
group of organisms.
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[image: image5.png]The term "evolution" is best described as

(A) aprocess of change in a population through time

(B) aprocess by which organisms become extinct

(C) the reproductive isolation of members of certain species
(D) the replacement of one community by another
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7) [image: image6.png]The females of certain species of turtles will sneak into a nest of alligator eggs to lay

their own eggs and then leave, never to return. When the baby turtles hatch, they

automatically hide from the mother alligator guarding the nest and go to the nearest body

of water when it is safe to do so. Which statement best explains the behavior of these

baby turtles?

(A) More of the turtles’ ancestors who acted in this way survived to reproduce, passing
this behavioral trait to their offspring.

(B) The baby turtles are genetically identical, so they behave the same way.

(C) Turtles are not capable of evolving, so they repeat the same behaviors generation
after generation.

(D) The baby turtles” ancestors who learned to behave this way taught the behaviors
to their offspring




[image: image7.png]The diagram below represents four different species of bacteria
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‘Which statement is correct concerning the chances of survival for these species if there is a change in the environment?
(A) Species A has the best chance of survival because it has the most genetic diversity.

(B) Species C has the best chance of survival because it has no gene mutations.

(C) Neither species B nor species D will survive because they compete for the same resources.

(D) None of the species will survive because bacteria reproduce asexually.
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[image: image8.png]In his studies of birds in the Galapagos Islands, Charles Darwin observed that few bird varieties

with similar beak size and shape inhabited a particular area. The limited number of similar
varieties was most likely due to

(A) competition for the same type of food

(B) competition for a specific concentration of oxygen in the atmosphere
(C) the presence of an excessive number of autotrophs

(D) the presence of a disease that attacks birds with similar beaks
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[image: image9.png]Certain insects resemble the bark of the trees on which they

live. Which statement provides a possible biological

explanation for this resemblance?

(A) The insects needed camouflage so they developed
protective coloration.

(B) Natural selection played a role in the development of
this protective coloration.

(C) The lack of mutations resulted in the protective
coloration.

(D) The trees caused mutations in the insects that resulted
in protective coloration.
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[image: image10.png]According to the theory of natural selection, why are some

individuals more likely than others to survive and

reproduce?

(A) Some individuals pass on to their offspring new
characteristics they have acquired during their lifetimes.

(B) Some individuals are better adapted to exist in their
environment than others are.

(C) Some individuals do not pass on to their offspring new
characteristics they have acquired during their lifetimes.

(D) Some individuals tend to produce fewer offspring than
others in the same environment.
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[image: image11.png]A key concept in the modern theory of evolution explains

(A) how new organs arise according to the needs of an
organism

(B) how variations occur within a species

(C) the continued increase in the human population

(D) the presence of asexual reproduction within a species
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[image: image12.png]Some of the concepts included in Darwin's theory of natural selection are represented in the diagram below.

natural selection

‘Which concept would be correctly placed in box X?
(A) use and disuse (C) changes in nucleic acids
(B) variation (D) transmission of acquired traits

survival of
the fittest
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[image: image13.png]‘What is the most probable reason for the increase in the percentage of variety 4
in the population of the species shown in the graph below?
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(A) There is no chance for variety 4 to mate with variety B.

(B) There is no genetic difference between variety 4 and variety B.

(C) Variety 4 is less fit to survive than variety B is.

(D) Variety 4 has some adaptive advantage that variety B does not have.
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[image: image14.png]The illustration below shows an insect resting on some
green leaves.

The size, shape, and green color of this insect are
adaptations that would most likely help the insect to
(A) compete successfully with all birds

(B) make its own food

(C) hide from predators

(D) avoid toxic waste materials




15)[image: image15.png]The diagram below illustrates the change that occurred in the physical appearance of a rabbit population over a 10-year period.
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‘Which condition would explain this change over time?

(A) adecrease in the mutation rate of the rabbits with black fur

(B) adecrease in the advantage of having white fur

(C) anincrease in the advantage of having white fur

(D) an increase in the chromosome number of the rabbits with black fur
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Cool Science Fact of the Week!





1. Darwin Once Ate an Owl, iguanas and giant tortoises.


2. Darwin Wanted to Be a Doctor, But He Couldn't Stand the Sight of Blood


3. Darwin's Nose Almost Cost Him The Voyage on the Beagle because the captain didn't like the shape of it.





4, On Darwin's 25th birthday, Darwin had a mountain named after him.





5. the real title of his book, The Origin of Species, was really supposed to be, On the Origin of Species by means of Natural Selection, or the Preservation of Favored Races in the Struggle for Life.





6. Darwin Didn't Invent the Phrase "Survival of the Fittest" Herbert Spencer, a philosopher and contemporary of Charles Darwin. After reading Darwin's On the Origin of Species, Spencer wrote Principles of Biology in 1864. He coined the phrase "survival of the fittest" and extended Darwin's theory of natural selection into the realm of sociology, ethics, and economics.


7. Darwin Married His First Cousin























Important Reminders:


Quick Quiz this Wednesday!!!


Make sure your notebook is up o date








Topics for the week:


Mutations, Survival of the Fittest, Natural Selection, Variations, Adaptations  





        Ancestor                 Beneficial               Competed            Die            Differences        


       Galapagos                Mutation             Natural selection    Niche       Observations  


       Offspring                 Organisms              Reproducing      Reproducing    Successful                   


        Shelter                      Species                  Survival            Variations
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